4/33 0703N223
B.Com.. (Sem.-5) Examination
CE 301 (C)
Strategic Management
Time : 2-30 Hours) | March 2019

Q.1 (A) Yttty gl ulan yymd,

Y4l

0.1 (A) YleHs duld-sil | Bl 2 wlerpiid wundl

Q.1 (B) #li A3l syauol 2Ardl. (5165 U 4)

(i) AR~ wl2q 942

(if) Ateus e wed §?

(iil) cA8Lens Aiad o Heged UMY,

(iv) 541 Bmiaf] caal oeed 21 4 §7
(V) AU e Hs U352 oyl

Q. 2 (A) Gediol [Qralni 3d) dd ay 87

»Yq)

0.2(a) Rl uondl WBAIAL dotssivll wumdl,
Q.2 (B) s i syeitot Uil (515 gL 4)

(i) Mad »iad 97

(i} (o3 2ied 9?

(iii) greu walam wied 97
(iv) 1518l Wil Bi2d 97
(v) il wioudl sizd g7

0.3 (a) [ (stilcus izansly wior uuond,
»ial

0.3 (B) SR weﬂazgtm wsed] eyl Hued wnondl,
Q.3 (B) s cllsui syetiol wudl, (415 wg 3)

(1) sls1 sl 5128 47
(i) 551 Rl Bls Grrsanl v,

Candidate’s Seat No :

——

[Max. Marks : 70

(14)

(4)

(14)

(14)
(4)

(14)
(3)

PTo




N 227~ 2

(iif) cqegrell wiuellsa wizd §?
(iv) stfsid)l gLl GEY syual.

Q.4 (A) Ylens 2igo-l uhfd vl wuomdl, (14)
v

Q.4 (A) Ylers Biganl Sem uhld TR (14)

Q.4 (B) S5 sl oxanal 2l (5154 3) (3)

(i) sicns Heuis- vied §?

(if) SUslens g 212d §?

(iif) »UuRLE ($1s18) Bigelel dotssivil srguAl.
(iv) uda- Razey vied 47




N=R27 -3

GUJARAT UNIVERSITY

T.Y.B. Com
Sem-5

CE-301C St?ategic Management
Q.1 (A) Explain the process of Strategic Management.
OR
Q.1 (A} Explain the characteristics and limitations of Strategic Management.
Q.1 (B) Answer in one sentence {Any 4)
(i) What is Strategy?
{ii) What is Strategic Management?
{ili) What is importance of Strategic Management?
{iv} From which field the word strategy is derived?
(v) State one challenge for Strategic Management,
Q. 2 {A) How's the industry analysis ﬁonducted?
OR
1.2 (A) Explain the stages of Environment Forecasting Process.
Q.2 (B) Answer in one sentence (Any 4)
{i} What is Mission?
{ii} What is Vision?
(iii) What is Remote Environment?
(iv) What is Operating Environment?
{v) What is Environment Forecasting?
Q.3 (A} Explain the functional organizationat structure.

OR

Q.3 (A) Explain the importance of organizational culture in strategy implememntation.

Q.3 (B) Answer in one sentence (Any 3)
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(i) What is functional strategy?
{if) Give one example of functional strategy. | | N
(i) What is strategy implementation?

(iv) State the ohjective of functional strategy.

Q.4 {A) Explain the methods of Strategic Control. (14)
OR

Q.4 (A} Explain the reward system in Strategic Control. (14)

Q.4 (B) Answer in one sentence (Any 3) {3)

{iY Whatis stfategic Evaluation?
(ii) What is Strategic Control?
(iii} State the stages of Operating control.

{iv) What is surveillance system?
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CE- 302 CMARKET RESEARCH

Q.1(A) Explain the role of Marketing research in Marketing Management. (14)
OR

Q.1 (A} Explain the process of marketing research. (14}

Q.1 {B) Answer it one sentence. (Any 4) (4)

(i) What is Market Research?

{ii} What is marketing research?

{ili} What is Ethics in marketing research?
(iv) What is Secondary Data?

{v) What is Primary Data?

Q.2 (A) What is the importance and Scope 6f Consumer Research. (14)
OR .

Q.2 (A) Explain the decisions to be taken in Advertising research. {14}

Q.2 (B) Answer in one sentence. (Any 4) ’ (4)

(i) State one function of Media research.

{ii) What is Motivational Research?

(iii) What is Product Research?

(iv) State one technique of Motivationai research.

(v) State the types of Questionnaire.

Q.3 (A) What is research Proposal? Explain the .elements of research proposal. (14)
GR

Q3 (A)'Explain the Descriptive research Design. (14)

Q.3 Answer in one sentence. {Any 3) : (3)

(i) What is Likert Scale?

(ii) State the types of research design.

LeTe]
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(i) What is an Ordinal Scale?

(iv) What is a Ratio Scale?

Q.4 (A) Explain the steps in Sampling Process. | ' (14)
OR

Q.4(A) Explain the format of a Market research Report. {14}

Q.4(B) Answer in one sentence. (Any 3) | _ (3)

(i) Distinguish Between Probability sampling and Non Probability sampling.
{ii) State one writing criteria of Research report.
(iit) State the types of Research Report.

(iv) What is population?




V'l Ly { -3
Gujarat University
B, Com Semester - 5

CE- 302 C MARKET RESEARCH

0.1 (a) HIEEA AAerAi-zn] uis(Ea ditaddl sl uumdi. (14)
iyl

0.1 (n) wiEE dglibacdl ula uuamdl. | (14)

0.1 (B) oy st syl wandl, (SlSua 4) | (4)

(i) e dgibe 2124 47

(if) WElEoL et vied ¢?

(iif) WERGoL dalitnl Alds yeul vizd 4?
(iv) ot sulsdl (32y) »ied 47

(v) s wlsdl (21 »izd 47

0.2 (A) ULk siietedl Weged B QAR AnAAL ©(14)
el

0.2 (B)wdud gl ol ALk wuomdl, (14)

Q.2 (B) 3is csaul sxnsl 2L (515U 4) ' (4)

(i) {1R4L el @is 0l m:quoﬁ.

(if) Bruucus el vied 97

(ifi) Uele el 2i2d 947

(iv) FmLens welitiadl 2l dsells ongul.

(v) el UsiRl e,

0.3 (8) HglHe elled B2d 5§? Uit el el AUAAL (14)
Bl

03 (2) Wirleds el Bostdal uunel. (14)

Q.3 95 ALSAUL syalol 2l (5w 3) (3)

(i) (@58 3@ wied 47

(if) dglitiet [3asde-l ustl sypudl.
(iii) 2lilaa 25a vied 9?7

(iv) Wl Ha v2d §?

[rre




WVRAH

0.4 (A) Feda WAL wisivtl YHMel.
2 Y4q|

0.4(a) oion2 Al BBl PRV (FiH2 ) dnerdl.
0.4 (B) Bls AL syl L (55U 3)

(i) detanl [Fedd vid B s [edid 923 agldd.

(i) Rigiitiet ATAA S Fuied HUES UL

(i) sigliel Bl2- wsil sxgual.

(iv) axdl vied ¢?

(14}



w3  0803N249A  CandidatesSeatNo:

B.Com. (Sem.-5) Examination

CE 302
Adv, Statistics-VII 4
Time : 2-30 Hours] March 2019 iMax. Marks : 70
' NN |
\QOO W)t - {er 2(2) Lty 2L v QL‘)
—_— T
ey oLy Lt |
. . \ \ '
W) Q N%f) cR a (o2 ’\4\%/) b

&m«(\q%ﬂ/) & Siawy 2my My %M(’\VC”?J\/)
s Cdm Q—T%‘U ] M%fh 20&;}73

7 Semy  [rex)
P y)%/!-)-j—’m')C\/) Kﬂ\(ﬁ’)

N3y ens Jozly €9
— 2:})_9-4)(/\') .ZJ“)%(S“’S G[?OQ f:a\

‘TZWZ/\RGJ:\Uﬂy 237N g 207)
200 ev ) _i’m@L NEUA  Zgynen b
%{\ %\S\q (7 E_Jco(\ &sl-:vr ﬁsv)q e :\.q\q:.\
5\(\ Y "1 To.ox =9 .\4 .Znaj 1L &a5n>)
A\ M=y MY o oy & 2 375‘\3
AR Ny
e -zmwvw\/) mﬁ\"‘)) Q”l)
NYTatPy gen 2y AN .

W)y 12 e Jonsy em

Y € V1) MY
Ay N 11 - 0;91\;2"11%
Yo Ty T
6'§ ..)\ r"*i | PPYRICISLNG s
NN SRSV IRl RN ~
TN Ay B0 YRS

Ceagmy  AENE ~ < 7’\‘@”/) na
)Cﬂ <\ AU (A2 @’\(”JON(\P\X{L —~ r\@v%;?
sny () 2y A MY L e ©
e anfer™) €
Zny — %\\an

(H"\\L/\ ey L '
(\ | '%X ’\’51’\'\@0 %M\qq .
() S A 24 o) AR .
(\a" e W '\) M) B BN N o )’
T 2.0 |\ Fo _
' Q,,C)f 25

= VB

)/ "\:n.ov ':onﬂ. | PTG



/‘va‘rf*
f”{) @-(\%1 S%j@w <4 3N Zjﬂ\/\g C&JJH&)E%) (Zi)
&1) = P\C‘\Lg\% 4101 jY o) Sy @\\'ﬂﬁV\?o
\3%) &@4‘\“1‘71434 24 ==}) ‘4’*“"’””‘0’)( ~

~ ~ ~
i) & an) ) v P e |

& 2 %/) b) QC?/”‘ (Bravaying 2 Qﬂ’;} AL 1y QL\)
' ™
K"] “'1)2‘) (Qﬁﬂ‘)"? 320 “ho Czee 11y ) w{\aj

~.
Q*“La corm MY R () e hen

23 f)~{‘) sy Q

n 3 A f

e ds T2 e

— .07
E?C!Z;‘o‘g‘" = 1l ° J

W9 1) et o) ey 520
‘ A
\”] R Iy
55 oA\ %) 7)) - e
«9’)

%‘i@ o v 2= = a 7}/
ma~\xvm ) N B
"\’\m\ﬂ—(\ 616 F0 | |
24 W) = 3
ﬂ‘/\ M\‘?H&’B ?Oo"f’ 2? ]g

| & s2 U
[, 9 ag_q‘(-;wbmq xw}")‘/) ?Cc 2y ﬁ%gl
2 é’;—qxﬂw‘\#\ SIS /)Co OT =



A y .
& 2\B) ojrm)  =0) ZN NN m)

\3/7 QCl"Nfaﬁ)Q\ 50 C:; ”WHQWJ;:') 0}’@!(‘;3\ Q?)

N CadYoratd) T mT ><’fj-Lj;>J

Ly

%\\c\, ~
O ™ ey ooy iy B9y s
Q2P () (Bamnq 9msa 2y o0 (U
Ool)  enztne, ey s
Sy () N2) (o
2
Lo ay ) &)
—
T
1“#?4& _,,\i

2y baA) | | .
’ v ) Mty

)[\Qu‘ {214 L 1A PN . |

ﬁ7b§’ ' @"3‘3,9$g) @)mﬁ\ | QL‘

N A,

Wy
e e éj; _
2o \VF 25 VY

| \ 2 42 T
L&mm?uw/) Ny L

A‘?TU) =




N2da@ A~ 4
A3 ) axn  @nn 25y @if%ma) (3)
t | N N
U9 Rynagran  domsze «)a 2h2w) e

KH? M\{T\)@;r}— lﬁ@%f)‘?ﬂwé’} ) Zamon g
(1457 ﬁh“;?ﬁﬂ\ £) e~ LMLy

SR, (Q pachy 223 (hasady < Ao |
oy TRuq &\
Q)\I) 5’(\1:\\ Wﬁ_‘:\\"\ "’Hl{&wq -m\r—;/éQﬂgQ—\ - C}\Gﬂ&’)
CH-a) ~13pw 3205
A |4 93 99 9y 974199 T4 959
& by vz le2 5 99 lex W 13 et b2

— —

Tl 1 13T BC Ta) BLES 5o Ty 135
2\ A eA

!‘\‘ 5
A (A V) (Zm iy ﬂ?—/\%\U_’Y\‘l N AAMY Q,q’:

\\Q&u Agmancy - ,
i) oy 2mta @ PG A emfaning
Sl zmamy ® A DT 0 AR

Cor o~ 2o =) G g, G A2y
(Glest-T 193, 35 92,2912 69156, 90

[

6, 6, 93 AY
o) £y (E“z)‘*ﬁ(*l &) Q“p?

(&) AT
(9 7em «™
WuM;

~ 2% ) WO Doy 27y



N&a-qg— s~

KREEIW) o) 2 o] 1we e
A‘Z?:\, CVQ'H&:;\'

~.
U ) {eyan iy V) Zommey

R _.,?{ PR

.



| N2eq - |
QY@ (o ok Ts A - disdy biiion (1)
(v 33 yo pey RS
e ) (Slqu | é»ﬁl $iz e
| e e,vﬁr“"d Grre. DA
e GWU’/) R ;@?W\MH we, The
Py s GJM;E#W%KT v 1134 anel
W\GC\MS G‘FL Fhe =
/g_@‘?e/@_ﬁ‘\

o Q,L, o)
erm |
gct\ow’@ Opdb‘ d% Y © Yo

2O\ ~ o AHaedr
zwﬁae/wf e M?OH,\Q/J;A

y 200"

Pop- “"%"W

Copp 1ot Ao
O\‘ For ae \\JWW\,\C}\QU anolalie .
|1 ag \"%WW Aadt FJPMM"W") eah

Tepr T2 hore ?@dﬁ gory sty iiens
A =3P~ A ,

N el



v ™= U ¥ .
! /

Coamples | Syze | M eam Sl

T 90 ERe 2 0
- VY 905 | 25
D %o.og' = 2 - O‘:

(B Answrey Mg Vo0 CAny o ) | (Lﬁ)

Kl) Sralde P ‘PWB‘Jb“,’P"U U{%MJGP};’:’ f?’M‘cv‘

N C”—Q’i - K433 Lid—to v
\ﬁ) € o ) och vy o] emve & oji gpveeojow
C\S\' ) W o \qa,d q'labmeﬁ “E*Cﬁ\'y}-w{]@wj‘?f)") "%«oj wWhieny 1

@.Q._QH) Q')gwg Mo pw@;oex/}ﬁej cj )CZT_GP;AMLK/%% . C\
dogses) Ry 32 FHmes

N ) e  <ovns AL
%ej /H,\_Q ﬁn 6"\/"‘f\:fj C’/blﬁf}"}/\!L"\ﬂL{G’\/) C)j M4y w;sQf\/
oL e vxagju |

o heads 13
sﬁﬁ@ﬁf\l\o L S S '
%@thj g AL g Ve ST VL
D%%~OS' - R
‘ . O
W, Q) é/xyp\ou\m st -4 ?C’Zj C&A'_S%%'L-\%‘om, C]
Gi) Fik o Pisser T s _
Jenk g qoodineds HANE

}

- Nambey 030’ M izes | ©
N iow 7P Pages \(éw% o 2
L VR XL =8
o 4R XY, oy :fw}
3.dF vy =AY
¢a

(>

v
Lturrg




ARSZES R'S

R 2 (B> Ansirer M Jellow Cﬁ%(j -}m)

| (t

(‘7 (Aive. Ay A vy Sediony 3 f—’ﬁ )

ke

i) caare A Bormde B X b 12
&MHM%Q'Y)CJ Fetsle

QW S eke The v el W SENI Ponihion
C"ﬁ }2’ c&j;)rv?Lv%‘omd |

8.3 By(iy wheck 10 amalgsi® D venan e
Qdete b assurep ent.

GL

Q. C/Q")GQ @"?if\&\‘v\ A= 'lré:/él/w\'\\o‘\\/\&’_ O:_E‘ | (\19
Ao ~ Y C"‘_’V\Oﬁ\afnj



N 2aaqq.- 9
A 2o 2| 2.7 | Y & 2 5
=125 MY 2 oy 2

—— "

[ A A (= )12 Py T3 35 ]

| (37 Shehe duo  owsuvp HoL o)

C’\""\%\j—gﬁj o’jﬁ N N
VY/ Zrploty  Aesigh oﬁ eoc:,peﬂrﬁwvev))y
| Qi'\) '%DQ‘P)'&M.‘V\ AoV h A e . o
QU §) ke down AtferenT bedween (i)
P epraned A C MM PO\W“ME’*% -

G)

4 97 99 939 99 9% 11 95 9%

o2 s 49 Yoz Ny Jetee Jed

T 2o 32 3O jh) P 06 iy j35”
oy

Ky @70 Tooplatn  AAumn Loy e o .
fHu.wwMﬁFwﬂmﬁ»ﬁgrkﬁkg 09

Vo




T . _ Nalé]:q{{)'_‘/u ,
(Q'LIKJ)] \/Uﬁ% 'ﬂer /Hn{_ 595))5\,\,'\«3 At jqu)ﬂs
| Av L Araw N —K)J?”W‘ LA € (pa-pquJ—n"ﬂV)
O s T C Jse qun—\/\/\/\i}"a{\j '}—%)r)
53 Ay 730 ) A2, 60 56 e
¢3 (80 Fh,6), 65,9 )y 86
' _QQWP)&,E\%DI&? 9, Tl €5 ¢y, 7h, 73
¢, 6, 3V e

QL

—————




o 3 \ A Cbt.&-q'{-, €

A TORN S
(L) 223§‘Q\\‘I A DA ’353\1‘&“%‘&
Cg) Q\\?‘\L\ “l‘\\\\\c'-},\\»é\-}q?}l @V\C\\ y/“f\\k}‘\\"{\ hg;\\\h(t‘(\qy

@

NA L
C’ﬂ’) 6‘1\\3&@\\ ’G\\ oruvin (hasy,
() G {aeadey Wadie AAZA 3\ A C—«Mmaa \;\Qa&\mﬂk o LTJ
- (“"”‘c‘ t- \‘&41\:.,\ caawt xg &\ ‘&A\Lg\am CYUMAY,
)9 G R WAL Aatoug VaYaY PASRVRAALS r+J
'S_Q\ o \}&Q?D\\ 3 e f,{\é« \&\(\\S\q\’\ *y-\\l\c{\ Y\‘n\ ‘E}

QU}A\C\DL ) ( 1 '2_ 3 S

huis*\'g\&\ N O o Rl (e | TS| EF (TR ‘]:;ﬂ 0

ot s\ "31‘1 €g |k | WET Lake! 6?’[5} gi;g'/
9N %\%\@-\y; c::l“l:tlir\ﬁ"‘r c,;pﬁ
( C;‘;l.n%ud
ALy

k) % \d@&%@' ({\ CRAUA 3—1\\\&& t:‘\él ST CSUYNY {‘\U‘y‘,?/‘

_ L- (‘(Aﬁ‘*\th *G\l @\x\,u\)\\ [CRVNI
Cit) LN TN P\ anans &«n{ T gg\m Y @

hg Jez |7 )w E
TR BT j ]
~ e(tgmf\ 24045 39‘; 6\@ X

b{- g a=s "~ 751?]

U S

i d

L t{?‘o CiS')

f"‘\f\\\k éﬁg @

C )

S atin &4 22 E c\&‘hf\ fﬂ 5 a4
C’\M\h 99 Q) €\

c"\&\J:'L\
AL AR o(uw\ (v

(g) slsiey
(i) QG\&&\ IR AT
c::\ SRS U %&{ %13 \-\\3\”3\3\ é\x\au\\\\
A
o7 eh ey S-Ae Y 'g< ’LY\G"L Eq\ai\iﬁ_‘a,\;_&c\ e\ W L
(o ‘h\hr(‘ﬁ‘\ S S
GBS @JL\\J\\\\ a ‘;\C) HERIR (T
y G WY A X
\ ({[(ﬁ \{*W AN 7:-\‘160 el 5“\‘“’“ C"BQC‘&%N\\ 2-'1'20'\ CD hy gﬁ,
._ ‘
1]5 CLAAAES .z\_g\mt\s{\ A el SR Ny «rb U\!s\s(\ e im y
A a(g\\\m ) Po

NN PR st




| Mk A L 3
QL ) (o
K‘ﬂ) &&-\a\\m\ G‘KU\\U\\ G
TPEALY AU, \3\\@{\& kh\vm é«\\(\e\m\ @\aw\\ m‘t f“I’)
(1D @\\m 9*‘%\?\\‘\ ~sulyel g Gnann {ucisa Aragiii & 0O 'HT‘M f?)

DU.\O\'\ 3 MJS)A’

[%\ to [ 1 L/;;E ]
= 2

lj -\ c_l.g}wq ywb

ARSI .
" e s T
cY) DheRy ang K11 (s g Sacuiiole ) sNIW 219 A T
\“{9)’24\ Qg\c«u _
oo\ easiony VR AND- VSR RN C@

(1) g s N ASNPER

| opgwan @

() N\ 78 \ué\ (R Sala N, Ch

C\- (G\i(}__\c:) YU\}-\:)\.X\ (:3""\5\ DL_-\‘P\(\\JL{\\ CGJ‘iJw_S\ C&—)-.—‘L,kﬁ\\ e\ el ‘j;.‘m 'Sr
czj Q‘S N WaRgy é\umm S cz;q :

el @ .1):3;7\ (WY

- S
Y g o lﬁu\l\
G Goda Wu 9




¥aba A (23 @
Q-2

76D 6‘“?3:\61\\ sy Ofulty (N WY,
e - adag o Geprlie €2 @ Quiinni evual L7
10 oA Sl el Wl o) P Gyl o v O
vy rt @t 3D all @ md aRrwop 7
SN SNl Alr o & Q WY 2 hwop i AP
6) Glhgint FaX o

T Laal

_ PR BEPP

L E ' e

(V) ced BN RAD A (et 2ot L), C7)
C\\U At ANy A\s -93:\3\}:\«:5 [\U/"”t;‘twyk A [_Zj

e [ > I

AR F} { Fr” (’1'}6_.]

6@3 oldi Uy Qig-f\ Sty Ot GYwe, C@
(1) Rosbaeni gahten (u\li:v?\b’_\J 60 QWU 2y
(0 Loed Comtant (U R ) el (eloht dawy
C\"\i)-) @\e@\kw\“‘iﬁb\ CgM\ucf\cxckx) S (v D "1';‘\
V) (R Mot 2l Tl uhagn Sas WEey s g
(v) & \.\S.&%-«\\s&t%\y\((\ UMy Satuy s

P

-~



oy Napq ATy
Cay Qe o -
é’“’\ \ ~
(b { AN Q\(U\\(J’;\\ AN, . \@\uot\f\%“{;} (jj
%c\'\f““&“& \\b&\g\(‘{\ gL S\ =i * " \,.?,)

N N\ ‘ - . .
(\D &\% ck:ﬁt LN BQ:‘ Qx.\kguf‘l{\(u\:\(i{\ \\r\}_‘i\\ '('\‘if\\ &C\\_\SE,{\(}“
‘5}‘“’"\’3\(\ 2N AN WA o, <\ @\\\i\\\ QUae 2hY k‘
| O NN Culagiget Y
Mol 5o Saen MY D =\ NARNENYS _
S, 5%, 45, I 6,C9) W, 6,23 TR 18,02 15, k6,6
29, 3%, yo, 36,65, 7L, WESU, 36 &y, gk, LS, 7h 66,39,

( A (L, : —
(( C::JQ?‘\\E}NN\&. wWhug césw\n\y{\\\ WERT IR XTI W 3l L7)
N \&&“"‘*‘i"\ﬁ‘k ™Rell ¥y A fin Sl WNQ Lo Vum@& (7
Ry Y 3 RN G Y. %@\&.(\\g{\ rg—*j[\\.l..\«‘ 5'3;3\ S“\&—\‘bsﬁ Cg\a\ﬁﬁt\\eu\,
&N\:&@t\w \»&&3%\ RN @\Q\B\ %ng ,

Ao S am N R Ts (119 |3 [ b [STE SayT
Eg%hﬁ\& b ISTC VR ‘E(, > ‘(\%,) ha [ 2 / 2/ 2
v ) ! ' ] [

(B Aiten Wi Ve sepial Al Sy 3>
D) XNk Y‘\g:b \&S‘é-?gxg»\ Sy O i\ac\ |

) PRUNAC LRV ulage ANaw W Qu o Sﬁe“:\

0 e it Aegigt Gl wy Hlon %}q[

~ N
) AL Wesiet A W Qe C')c\,

Y ot DLW Qui N |
(V) 4-5;:\3-\\.» O Waigr QAR N Rurn 99 -




(i)
(i)

Naga A LS

Old Course

Note: (1) Figures to the right indicates marks in full,
(2) Necessary statistical values are provided in the question paper.
{3) Use of simple calculator is allowed.

Write the followings

What is small sample test? Give names for small sample fest. State

assumptions for the application of t-test.

An |Q test was administered to 9 candidates before and after they were

trained. The results are given below.

Candidate 112 [3 14 |5 |6 |7 [8 |9

IQ before fraining 184 |87 | 75|67 |72 | 56 | 48 | 86 | 90

IQ after training |89 (84 [86)78[89 (681579885

Test whether the fraining is effective? (Given tgg 0,05 =.1.86)
OR

Define t - test statistics State its pdf and also state the applications of

t —distribution.

In a test given to two groups of students, the marks obtained are as follows.

First group 50:91138[49[82,76 88 |27|65

Secondgroup | 92168 (61|74 (564288

Examine the significance of the different between the mean of the marks

secured by the students of the above two groups. (Given t(;5.05y = 1.753)

Answer any two out of three

Which test is used for testing significant difference between the sample and

population mean? State its formula.

Which test is used for testing effectiveness of the treatment given to the data

values? State its formula.

Define standard error. State the formula for the standard error for the

difference between two mean in case of small sample.

/7.0
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Q.2

(A)
(i)
(i)

(i)
(ii)

(B)
()
(if)

(iif)

N2Ag4g T 16

Write the followings :
Define chi-square test statistic. State its uses.

7
Fit a Poisson distribution to the following data: 7
: Xi 0 1 | 2 3 4 5 5]
fi 11 31 26 17 10 4 1
(Given et = 0.3679, yZ,, = 7.82)
OR
What is goodness of fit? Explain its procedure. T
Discuss the independency of attrlbutes for the following data 7
Attribute P
Attribute Q| A | B | C
X 111136}
Y 61717

(Given y2,;, = 5.99)
Answer any two out of three 4
Which test is used for testing significant difference between the sample and
population variance? State its formuia.
For what purpose Yate's correction is used? State its formula
What you mean by ‘polling'? State its effect. :
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Q.3
(A)  Write the followings

e

(i} Define F-test. State its uses. : 7
(ify Carry out the one way ANOVA for testing the variability among the varieties 7
from the following data.
Varieties Process
A 220 | 260 | 320 | 360
B 290 | 380 | 420 | 330
C 320 | 380 | 450 | 370
D 290 | 370 | 440 | 510
E 220 | 280 | 330 | 390
(Given F; = 3.01)
OR

(i} Compare CRD and RBD in detail

(i) Set up the analysis of varia

7

nce for the following results of a ‘Latin square 7

design.
A C B D
25 18 12 22
C B D A
28 15 15 19
B D A C
22 12 - 13 22
D A C B
14 17 27 17

Given F, = 4.76)
(B) Answer any three out of five
(i} Define randomization.
(i) Define local control
(ili) Define replication

(iv) State formula for testing significant difference between two population

variance.
(v) Define F-statistic

)

r T o
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Q.4
(A)

(i)

(i)
(ii)

(B)
(i)

(ii) -

(i)
(iv)

N 2+aa

Write the followings
Define non parametric. State its uses.

A random sample of 30 students obtained the following marks in a class

test. Test the hypothesis that their median score is more than 50.

55, 58, 25, 32, 26, 85, 44, 80, 33, 72,10, 42, 15, 46, 64, 39, 38, 30, 36, 65,

72,46, 54, 36, 89, 94, 25, 74, 66, 29.

OR

Compare nonparametric tests with parametric tests

At the 5% level of significance, can we conclude that the following distribution
follows a Poisson distribution with mean 2? (Use Koimvgorow — Smirnov’

Test)

No. of accidents per day

0

1

2

3

4

5

6 or more

Number of days

36

58

70

44

21

12

7

Answer any three out of five
For what purpose run test is used?

For what purpose Mann-Whitney's U test is used?

For what purpose Wilcoxon's test is used?

For what purpose sign test.is used?
For what purpose Kruskal-Wallis test is used?

~
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